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1. = THeTl Sahd sTieheaie et 3fae’ 1 = @nTd shal, o )
(a) 1 TN HEHIIHT Ade=Ai= &0 20N 2
(b) 1 HEEM AT FHr=A1 MR HaRTdl B0 ardl

ettt v faum/ faum swe] ame/d 2
(1) (a) P (2) (b)
(3) (@9 (b) (4)  HITIE FRT e ATE

Justice Ranade welcomed Deccan Agriculturist Relief Act, because
(a)  This act would protect the farmers from the money lenders

(b) By this act, the farmers would be relieved of the debt burden
Which of the statement/statements given above is/are correct ?

(1) (a) only () (b)only

(3) (a) and (b) (4) No statement is correct

2. 1ﬁ1960ﬁ‘gﬁ@3?@ﬁg’mmmmwwmﬁmamm?

(a) 26 (b) 28 fore (©) 239 Al (d) 229 wreH
it S @

W (@ o wm B om0 e

21 (@) st (@) ww K@) (o) 3 (b) s

The state of ‘Maharashtra with Mumbai’ was established on 15t May 1960. How many
districts and Talukas were there in newly created Maharashtra State.

(a) 26 Dist. (b) 28 Dist. (c) 239 Talukas (d) 229 Talukas
Answer Options :

(1) (a) and (c) correct (2) (b) and (d) correct

(3) (d) and (a) correct (4) (c) and (b) correct

oAl HIATHES! JRT/SPACE FOR ROUGH WORK
P.T.O.
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3. Sire o

(a) foge Tmsh fiig ()  TeA%, "o AIGH AakL afER’, ST

(b) TR TER (i) e, ‘Has ifh SRMAL e’ W e

() Terrrm Saew (iii) e ‘AT’

(d) e e (iv) fosrit wer

Ui I

@ () (o) (g

B0 ) GEH) (v

(2)  Gv) @) @) ()

B) @) Gv) @ ()

4) @) @) Gv) (i)

Match the following :
(a)  Vitthal Ramji Shinde
(b) Khasesaheb Pawar

[
N

President, ‘Valve Taluka Shetkari Parishad’ at Borgaon

President, Fourth session of ‘Mumbai Prantik Brahmanetar
Party’

(c) Dinkarrao Javalkar (iif) Weekly ‘Tej’
(d) Shripatrao Shinde (iv) Vijayi Maratha
Answer Options :
@ ® (o (
@D O G @) (v
(2) (v) (i) (@) ()
G) @ @) @ ()
4) @) @ (@) (i)

E

4. EfeuSH W e St wore welerte Bl et 2
TN e Yo s gz s
B fa=. aEwE
3) wfo g9 3 g s
(4) SR G 9 AR e
Who among the following founded the

(1) Jawaharlal Nehry and Subhash C
(2) V.D. Savarkar

(3) B.S. Moonje and M.R. Jaykar
(4) B.S. Moonje and Shamaprasad Mukherjee

Independence for India League ?
handra Bose

\ F FTWETE T/ SPACE FOR ROUGH WORK
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5. ‘ToRui g Ol W1 AT HEEA GHEUE! Weflerisht o7 faursme 2 2
) e @y e fras
(3) =L WA TS @) = ga

Who among the following was head of the ‘Swadeshi Vastu Pracharini Sabha’
organization ?

(1) Mahatma Gandhi (2) Lokmanya Tilak

(3) Justice M.G. Ranade (4) Dr. Munje

6. HERTSERA QA Tafaerel St Sfor i< Tevar=i fashrol Fi=a Sirea Seedl.

(a) ergRem @) TR
(b) dig (i) WHY A=A
(©) i guH (i) T

(d) it forere (iv) TR
Ui ST

@ () (o) (d)

1 @ @) @ )

@ @ @ @) (i
Q) (v) @) @@ @
4 @) @ @) )

Match the following prisoners sent from Maharashtra to Andaman with their place of

residence.

(@) Adhuria (i) Nagar

(b) Pandu Bhorji (i) Khandesh Yaval
(c) Dharma Subhan (iii) Nashik

(d) Dhondi Birbal (iv) Pandharpur

Answer Options :

@ () (9 (d)
1) @ @Gv) @ @)
(2 @) @ @) (@)
@) @(v) (@) @@ @
4) @) @ @) @

FoT HIHTETES ST/ SPACE FOR ROUGH WORK o 6
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7. Tl HHS QYR 9 o Wi Ao S A

() foger Twsh faie () T

(b) <RI g (i)  erfeeeH

(c) TiaTes & e (i) R ST T
(d) SR Pt (iv) STaE

gt I

@ ®) © @

1) @ @ ) @)

@ O @) @ @

@) G @) 6 @

@ @) @ @ 0

Match the social reformers with their literature :

(a) Vitthal Ramji Shinde (i) Ishara

(b) Dadoba Pandurang (i) Dharmavivechan

() Gopal Hari Deshmukh (i) Bhartiya Asprushatecha Prashna

(d) Jyotirao Phule (iv) Jatibhed

Answer Options :
(@ () (© (d)
O @ O @

R

oo FTATETS! W1T/SPACE FOR ROUGH WORK
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8. EIcilcTish! sV d1e SIIER 3718 2
et 9 : TH.EA. 19 ¢ foree 9ams 9 2.
T I ;. TH.TH. G4 § Hewa SHiwfw T T B

it I

(1) fEet A sRieR 3T, (2)” T A SR R,

(3) TI=H AR S SR (4) 2 AR TIF A

Which of the following sentences is correct ?

First sentence : M.N. Roy was the leader of the Liberal Party.

Second sentence : M.N. Roy was the leader of the Radical Democratic Party.

Answer Options :

(1) First sentence is correct. (2) Second sentence is correct.

(3) Both sentences are correct. (4) Both sentences are incorrect.
9. SIS AT :

(a) Sl VHFSE 3T (i) 1949

(b) HefeER =M (i) 1952

(c) TAHLIIRA. T (i) 1961

(d) S PR SWEM—— (iv) 1964

Tt S

(@ @®) ( (@
1) @@ @ (v) (i)
(2 @ @ (@v) (i)
@) @) @ (@v) (i)
@7 @) @) @) ()
Match the following :
(a) Dr. Radhakrushanan Commission i 1949

(b) Mudliyar Commission (i) 1952
() N.CER.T. establishment (iii) 1961
(d) Dr. Kothari Commission (iv) 1964

Answer Options :

@ (® (@ (@
D @ @ (v) (i)
2 @ @ (@Gv) (i)
3 @ @ @) (i)
@ @ @ @) (@)

FHEAT FHIHMETS AAT/SPACE FOR ROUGH WORK iy
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farfeer wm TR EEA" =y
10. ' AT feadf fears ST ared =rere, @ S dre Hed el 7
| ST JIH A fammren @efter safed=n widgan i :

(2) W FeTEr [b) HEe e ufehed
(©) TR & (d) v

< i frare

1) (a) e () TR AQR) (b) 3T () IR
G (c) 31 (a) = ) (d) o () wRe

Disenchantment with Britis
way to vent it out only
Wwas supported by :

(a) Sir Wederburn

her is grov(‘r/iﬁg day by day in India and we have to give them a
than we can stabilise our Government. This statement of Alan Hume

(b) Mount Stuart Elphinstine

() Sir Henry Cotton (d)  Slegal

Choose the right option :
;‘—\
? (1)  (a) and (c) correct (2)  (b) and (d) correct

(3) (@ and (a) dorrect (4) (d) and (b) correct

QWWW‘WW’WWW%
qW

Gy = T v (b) W faarey

AC) TR TevuE v (d) o Fyem

Eﬁ"'ﬂﬂ?f‘qﬁ'd@l: T

(1) (a) 307 () SRR

@) (b) =mfor (d) s
) T s

“The Hindy Co
mpowerment.

(b) Pattabhj Sitaramayya
(d) Sucheta Kriplani

(3) (), (¢) 3 (a) IR

The following individuals Supported
Ambedkar in the views of women e

de Bilr forwardeq by Dr. Babasaheb
(a) Dr. Rajendra Prasad
(c)  Sardar Vallabhbhaj Patel
Choose the correct options :
(1) (a) and (c) correct

(2) (b) ang d :
()  (d), (c) and (@) correct aeid) COrrect

4) Aq Correct
ST TS W/ SPACE FOR ROUGH WORK
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12. wEreitertEt foga v e,
IECIEICIRNEER
sl gad

Identify the odd title word.

1)
3)

m BYJU'S

9 014

(2 '3'36135““ Fic;ﬂlﬂﬁ /

(4) RATHATE AHS

(1)  Vithobachi Shikwan (2) Kulkarni Leelamrut

(3) Shetaji Pratap (4) Shetkaryacha Asood
13, e o5

(a) TSR STH - YolgaTd alarst

(b) T G e forfera anfor TR T S| 9

() TR EHTAT

(d) =9 frem wRET Hfera ferda o

it SN ;

(@ () () (d)

1) @ @@ @ )

M) @ @ Gv) ()

Q) @) Gv) @) ()

€4 (@Gv) @) @ (1)

Match the following :

(a) Gulbadan Begam Expert in Calligraphy
(b) Salima Sultana Highly educated and well read in Persian
(c) Jahanara Begam Humayunnamah
(d) Zeb-un-Nisa Wrote poems in Persian
Answer Options :
@ ®) © (d
O @ @ 6w
@ @ @6 G (G
() @) @) @ 0
@ @ @ 6 @
& KU ST/ SPACE FOR ROUGH WORK P.T.O.
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14. 187, 1899 Tft feretf aiwen At arared SRS v fore e SyoEr= HHrEr e
(a) SHE FE Had | e,

(b) S HEE J@ S WM TSIRRUTERS e,

(c) ‘3=l e Yehdl, & Bd TR .
(d)  Shid=T AR STTEXET U,

it 39N
(1) (a) 307 (¢) TR (2)  (b) 3T (d) SR
}% (€), (b) ST (a) SR (4) HEB (d) SN

Dinshaw Wancha wrote a letter to Dadabhai Naoroji on 18th Nov. 1899 to convey the failure
of Congress.

(a) Lay-off consistently in the work by Congress.

(b) Attitude of leaders towards politics as a leisure activity.

(c) We only bark do not bite.

(d) The only way to follow is revolutionary way.

Answer Options :

1) () and (c) correct (2) (b) and (d) correct

3) (c), (b) and (@) correct (4) (d) only correct

15. SOOTSS: WS A S T TR HITATHIST I HeNTAFRIT THE TR He

(1) TEH (2) HUTHAT (3) e @y~ wmus
Annabhau Sathe used the following means to spread the Communist Ideology.

(1) Drama (2) Storytelling (3) Batawani (4) Kala Pathak

o= HTATETS WM/ SPACE FOR ROUGH WORK

T S |
a L
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16, FEAE T A feR. 1. sfaer s gaiied v o s

el 88 [SIUCICH

(1) T, 88 FA (2) 94, 5.8 FA

(3) B, 2.8 HI 4) WM, 52 FE

planet in solar system found km. from sun and takes 88 days to

complete one rotation around sun.

(1) Venus, 8.8 crore (2) Mercury, 5.8 crore

(3) Mars, 2.8 crore (4) Saturn, 5.2 crore

17. @S qd Iemeaseyidia faum T,
Ha) T TS YETR HREAT SHITE T S,
(b)  TTHC el ST G ST T 3T,
(c) I T YIohTo FREF SishetsR JoH RIS T AT e .
i I
(1) faum (a) enfn (b) SR aRA.
(2) faEm (b) sufor (o) TR R4
(3) faum (a), (b), (c) TR e
(4) 98T @), (b), (c) SRR T
Observe the statements regarding mineral oil production.

(@) Nunmati oil refinery established with the help of Rumania.

(b) Nunmati oil refinery is located in Assam.

(c)  The raw mineral oil is supplied to Koyali oil refinery from Ankleshwar.

Answer Options :

(1) Statements (a) and (b) are correct.
(2) Statements (b) an d (c) are correct.
(3) Statements (a), (b), (c) are correct.
(4) Statements (a), (b), (c) are incorrect.

HoAT HTHTATS WT/SPACE FOR ROUGH WORK
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18. SIS &M@ :

qBRTY Uehl

(a) TEdlaE(d 98T

(b) TEAUET TSR

(c) SITTHETHeS TR el YSR

EBYJU'S
12
TSI 3ET&0T

(i) HeE™ 18R
(i) IcifeETe TSR

(i) fireres 9eR

() T T T e v (iv) ST TeR

gt I

(@ (b) (o)
1 @ @) ()
(2) @) G @
@) @) @ ()

/(9/(iV) (i) @

Match the following :

@
()
()
(i)
(i)

Types of Plateau

(a) Intermont Plateau

(b) Piedmont Plateau

() Lava Plateau

(d) Glacier Erosion Plateau

Answer Options
@ ® ©
1 O Gi) (i)
@ @ @ O
@) ) @ ()
@ @) i) @

C))
(iv)
(iv)

@

(i)

Example of Plateau
Colorado Plateau
Colombia Plateau
Greenland Plateau

Baluchisthan Plateau

e

A

| o srATETdt W/ SPACE FOR ROUGH WORK
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(a) =RIGeEl 98T
ORREUSIERIEE

(c) g HfE® TSR
(d) I 98

it I

(@) (b) (o)
M @) @ 0
(2) ()| (i) (i)
B @ @ G

4 @ @ @

(iv)

13

@TeAtel THE ST TSRI=A A1 Weieil S e :

(i)  smrrEn
(i)
(i)  afeor ST
(iv) UL STHIH

Match the following plateaus with their continents :

(a) Columbia plateau

(b) Bolivia plateau

(c) Central Massif plateau

(d) Yunan plateau
Answer Options :

@ (@
1) (Gv) @) @)
@ @ @ )
G) ) @) ()
@ O @

i) Asia
(i) Europe
(ii) South America

(iv) North America

T FTES
ST/ SPACE FOR ROUGH WORK
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20.  WRATdS e 9 @i eys Jie G S o

)
(@) IRTEE
(b) T
()
(d) weEHs
T 3NN

D @ 6 G
@ 6 ) (i)

@) i) @v) ()
@ ™ O @

Match the pairs of Indian rivers and waterfalls on it :

River
(a) Sharawati
(b) Narmada
(c) Kaveri
(d) Ghatprabha
Answer Options :

@@ () (9

1 @ @ @)
2 O @ @)

@) @) Gv) @

@ @) @O @

BEBE)
(i) TreEges
(i) TRTH
(i) TR
(iv) hiueTHmr

Waterfall
(i)  Shibsamudram

(i) Gokak

(iii)  Jog
(iv) Kapildhara

(i)

m BYJU'S

FTAT HATHTS! ST/ SPACE FOR ROUGH WORK
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21. Siedl o :
LT I/ VIR T

() TR () TR

(b) SHERE (i) - S

(c) EsTa (iii) AT

(d) HH (iv) BUETE

it SaY

@ (®) () (d

Ty 6 G @) (i)
~R ) () ) @)

G) Gv) G @) G
WG @ (v @
Match the fouc;wing :

National Park/Sanctuary State
(a) Bandipur (i) Rajasthan
(b) Keoladeo (i) Assam
(c) Indravati (i) Karnataka
(d) Manas (iv) Chattisgarh

Answer Options :

@ () () (@
D G (v) (i)
(i (@v) @) (@
() @) ()
() @) (@v) (i)

—_
—

N SN

= w

S N N N
Py
)
p—

¥ BT T/ SPACE FOR ROUGH WORK o e
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wﬁwmmﬂam mww@%@ﬁ%@%@m?
@y q‘gam,mﬂﬂzﬁﬁ?mmﬁﬂﬁa F&Eﬁi‘lﬂﬁﬂ

(2) TR e, o i s, ‘a’l?ﬁm@@m“

3) a@mqﬂamwmmﬁ BN

(4) R W &, TR e, G, TSt

Which of the following landforms are produced on coastal area by wave erosion ?
(1)  Sea cliff, Bay, Sea caves, Sea stacks

(2) Sea cliff, Wave built terrace, Sand bars, Lagoon

(3) Bay, Sea cliff, Lagoon, Sand bars

(4)  Sea stacks, Sea cliff, Bay, Lagoon

s i mwmmmwm%ﬂwmmwmv

- (1)~ FrEeR weq gof (2) IR weiq goft
P (3) ferETeti® wda g (%) Fopelt wda g

Which mountain range is found between Karakoram mountain range and Pir Panjal
mountain range ?

(1)  Zaskar mountain range (2)

Pamir mountain range
(3) Shivalik mountain range

(4) Kirthar mountain range

24. Wzollmwmmﬁwmﬂhmmaﬁw.

(a) IR (b) T

(© 9o (d) TR

() TR

i 39T ; \

M ®) (@), (), @), (© ﬁW@@@ﬁ“)

) © <h) éa) (e)dﬁb) : @) © @), (@), @), e

f)g;dcs:stuts 30 lelscen thg order of the following districts regarding density of Population as
(a) Kolhapur

(b) Jalgaon
(c) Pune
(e) Solapur
Answer Options :
(1) (b), (e), (d), (a), (c) () (), (0), (c
@ © @, @), @, 0 @)8&%8@

SN HIEIEE! W/ SPACE FOR ROUGH woRg
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25. SIS oo 014
[Fs fommo
(a) Taafem () Fwwn
b) (i) Fry
() e (i) I
() = (iv) o
TatEt SHY
(@) () () (q)
@) @) @Gv) @)
@0 @ @) @
G @) @) @) (v
@ @ G 6 @
Match the following :
Glacier Place
() Siachin () Kashmir
(b) Rimo (i) Karakoram
(© Gangotri (iti) Uttarakhand
(@) Zemu (iv) Sikkim
Answer Options :
@ b ( (@
O @) ) ) (i)
D0 @ @
S (iv)
| Y ® @ g @
|
E NWW/SPACE FOR ROUGH WORK ey
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26.

T ATt S/ SPACE ¥

1 @ @) (@
@ W) (i) (id)
¢ @O @G @)
@) @ @) @
Match the following :
Region
(a) Sahara desert
(b) Greece
(c) Iran
(d) Alps
Answer Options :
@a () (©
G @
@) (v) () (1)
@ @ @ )

@ @ @ @

18

Name of the wind
(i) Foehn
(i) Semun
(ii) Sirocco

(iv) Khamsin

(d)

m BYJU'S
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27. mﬁﬁaﬂaﬁ%?ﬁmmwﬁ%ﬂ(ﬁzou)mm@m.

(@) STEARY (b) fEMR

() (d) HrH

() IIH (f) ERE

Tt I :

1) (@), (), @), (o), (©), (d) @), @), () () 0, ()
(3) (@), (), (O, (©), @) (e) @) (), (), (@) (&) 6 ©

Arrange the following countries of the world having the highest density of population (Year
2012) in descending order.

(a) Bangladesh (b) Singapore

(c) Malta (d) Monacco

(e) Mauritius (f) Baharain

Answer Options :

1)  (a), (b), (), (e) () (d) 2 (@, (d), ®) ©) @) ()
3) (@, ®), @) ©) @ () 4 (@, (), (d) (e) () ()

28, WEeiET YT SHIUE e i s T e Sl 3R ? -
(1) iR, sfaren, faeefl, SR
(3)  SFETEE, STHI, TES, TRER 2 /
(4) foumETETE, fasmEaTe], BRI, S &

Which of the following group of cities are connected by Golden Quadrilateral National

Highway System ?

(1) Jalandhar, Ambala, Delhi, Jaipur

(2) Bangalore, Chennai, Kolkata, Agra

(3) Allahabad, Agra, Lucknow, Gorakhpur

(4) Vishakhapatanam, Vijaywada, Hydrabad, Belgaum

Scanned by CamScanner
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29. @refie Tqg geste YT HTerEeTdiel shieare Taid ST d Taid Al T8l hH @,

(a) ZrfEs® Heq (b) TS ey

(c) chfsIsr wea (d) =TT Few

(e) HiHs™ ey

it 3w

1) ®), @), ©, @) @ @ (), (©) (@) (@
G) (@), @) (), @), © ) (), (b), (), @) ()

Arrange the following Geological periods of the earth from the oldest to the newest one,
(a) Triassic Period (b) Carboniferous Period

(c) Cambrian Period (d) Quaternary Period

(e) Permian Period

Answer Options :

1) (b), @), (), (d), (e) ' 2) (b), (9) (@), (o), (d)

(3)  (d), (), (b), (e), (c) 4) (o), (b), (e), (a), (d)

30. WIATAYeh! HIUET SN Idl AT IS HISI THIUIER Hd! ?

(1) ARt (2) EIfER (3) =& (4)- fwatet
Which of the following industry produces agricultural tools on large scale ?
(1) The Ranbaxy (2) The Pioneer (3) The Bajaj (4) The Kirloskar

31. =S Il e foaehid SUHA wH fawtaa Iamed €% @ v ade e
57 AY FACTT FIER Tl e, s

(1) = 1999 - ST ) 1#5!611980-@30K

@) #1979 - 7= (4)—am 1989 - faERes

i : —
Basel convention an international treaty designed to reduce movement of hazardous wast¢
from developed to less developed countries signed in at _
(2)  April 1980 - Japan
March 1989 - Switzerland

(1) March 1999 - Germany
(3) May 1979 - Norway (4)

e FHTETSt ST/ SPACE FOR ROUGH WORK
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(@ (b) (© (@

@@ @v) @) @G~
A @) ) (i),
®) (v G @ @)
@ O G @) (v)Aa

Match the following :
Column - I Column - 11
(Species) (Type)
(@) Indian Rhino () Rare
(b)  Asiatic Elephant ()  Endangered
(©)  Desert Fox (i) Extinct

(d)  Pink Head Duck (iv) Vulnerable
Answer Options :

@ () (o (d)

D) @) v () i)
@ @) @v) @ @)
@) @) @ @ )
@ 0 @) @ @

= HTHTETS ST/ SPACE FOR ROUGH WORK A
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35. aﬂsﬁﬁnwwwﬁsﬁm@mﬁaﬁmqﬁvﬂqw7

(a)  HTOTETEAT I GfTRRE &I THET

(b) FFEAd A8 Gl

_A(c)  AT9HET &

(d)~ Teiifsig EoATe T

gt 39

(1) " (a) S (b) (2) e () ()

(4) 0 7
etion ?

(3) W (b), (c) 0T (d)

Which of the following are ecological impacts of ozone depl

(a) Damage human immune system

(b) Stunted growth of the plants

(c) Rise of temperature

(d) Causes cataracts

Answer Options :

(1) Only (a) and (b) (2) Only (¢) and ()
(4) All the above

(3) Only (b), (c) and (d)
36. Tl SERT=AT 2017-2020 A1 Saiftier smrEeT=t é e ATed -
(@) Goadyd e 3o T A0

(b) mzozzmmwww.
mzozzwm@mw_» il T L.

(@
@) (b) S ) R R TR,

"lezﬁ' 34 :

1) (a) FH SR 3.

3) (a)awﬁr(c)maﬂmaﬂ%a 4 ) SO (b) e SIS SATel.
da of NITI Aayog for 2017-2020 aimed at :

The three year action agen
(a) Doubling farmers’ income by 2022.
ctricity to all households by 2022.
in all states by 2022.

(b) Provision of ele 5]
(©) Establishing central universities
Options :
- e - (2) (b) and (c) only are correct.
(1) (a) only is correct.
(4) (a) and (b) only are correct.

(a) and (c) only are correct.

(€))

SHeea SHTaTETSl ST/ SPACE FOR ROUGH WORK
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57, Tredes U ST Heivrd ivid/df faem/a @ sm/q 2
Aa) ¢ fafime wﬁwméﬁﬁaﬂa@mﬁmwauﬁwﬂm eae 3care weaw
3@ (factor income) SRETAd.
(b) @AW fEid, ST Al THEE SFHA W WA A fHeses e Heai Saq
guIfae 9.
() N e’ S WUt SRl AHEA Hehel U Afteh ScT-IGA WiSael SHEE Ssee
“ Fefl STE. S
gt 3
L @© 1 @) (G) (b) (4) (a) A ()
Which of the following statement/s is/are incorrect about Net National Product (NNP) ?
(@) It shows net production of goods and services produced in a given financial year
adjusted for net factor income from abroad.
(b) It includes exports, imports but not factor income from abroad.
(¢) Itis called ‘net” because it deducts capital depreciation from total National Income.
Answer Options :
1) (9 @ () 3 (b (4) (a) and ()
. &
38. WA AREEI=A dEdid @lefierdant m@wﬁ
(2) St TFTHEA FEI Ted 3.
(b) TR TV ARGl e HHl RvAE gHar s;nt»ﬁ aﬂ%
wiEt S o
(1) (a) P SIS SR, (2)  (b) P SR L,
) (a) T (b) S SIS 3T (4) (a) ¥ (b) I T 3MRA.

™ ot WM /SPACE FOR ROUGH WORK

Which of the following is true regarding Indian population ?

(@)  Annual population growth rate has been declining.

(b)  Share of India’s young population has started declining.

Answer Options :

(1) (@) only is correct. (2) (b) only is correct.

(3) (a) and (b) both are correct. (4) (a) and (b) both are incorrect.

P.T.O.

.
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39. M Geie wyEES g e e 9 3
e ? e

FHTHI
(1) SiEehM AR @ T s
(3) HEATE HISH SUSHHTIA HIHTR (4)-  MSEED i applicable for which of the

i an Y0j
Pension Scheme, Pradhanmantri Shramyog! Mandhan YO]
following in India ?
(2) Audio-visual workers

(4) All the three mentioned above

(1) Construction workers

(3) Mid-day-meal workers

S

20. TR B fa e 7

;m/zowwwrﬁmﬁmaaﬁwmmmamwmm'
SR S e

(b) e g e @ Y S T A A ST

(1) (a) T SRR (2)  (b) eI I

(B)  (a) 0T (b) AEE TF () (a) =W (b) AEE R

Which of the following statements are correct ?

(a) The Human Capital Index (HCI) suggested in World Development Report - 2019 is
measured in terms of the productivity of the next generation of workers.

(b) HCI ranges between zero and one.

Answer Options :
(1) (a) only is correct (2)  (b) only is correct

(3) both (a) and (b) are incorrect (4) both (a) and (b) are correct

41, o e AT S SO/ T FOAS 27 ey gy fat e T

faure el ?

(1 6w (2) 5Ter (B) 47 4) 9T

Under 11t Five Year Plan, 27 monitorable targets were divided into how many mai!

categories ?

1 6 categories (2) 5 categories (3) 4 categories (4) 9 categories
arét @rT/SPACE FOR ROUGH WORK
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4

' gaa'q‘vﬁﬁlﬁﬁﬁ7
(1) e fadt FrEwd (2) = 9a fawE
(3) o IENE] _(4y” = (HRIDAY) FIHH

Government of India’s ministry of Housing and urban affairs is implementing which scheme
for urban planning and heritage conservation ?

(1) Smart City Programme (2) Swachh Bharat Mission

(3) Atal Mission (4) HRIDAY Programme

43, T e feremr =
(a) TET HAR A 2010 #44 G& HI0AM™ 3.
(b) T 2021-2022 T 1,00,000 MW SSIH{HAR FT01 T @ I .

i 39
(1) (a) o SIS 3 (2 (b) FHT A AT
(3) (a)d (b) S TR A (4) () (b) TR T AT

Consider the following statements :

(a) National Solar Mission was launched in 2010.

(b) It aims to generate 1,00,000 MW of power by 2021-2022.
Answer Options :

(1) (a) only is éorrect (2) (b) only is correct

B) (a) and (b) both are correct (4) (a) and '(b) both are incorrect

™ FTHTES: W/ SPACE FOR ROUGH WORK g
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both boys and girjg  FMary ang

(b)  Reduce inf
ant morta];
(©) Reduce e Iality rate ¢, below 2g

7 mortalj ; per 1 .
(d) Achieve 100 percent ye .ty ra.tlo to beloy, 0 000 live birthg
Answer Options - Bistration (¢ birthg Per 1,00,009 1~. .
(1) (a) and (c) (2) , deg Ve births,

S, Maryy
lage
8¢ and Pregnancy.

(b) Ollly

4)  (0) and (d)
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a7 RIS STl ST =
(a) Ww%ma(aﬂaﬁ)q@ammmwmﬁ
(b) mmaﬁwhmwm@mwm%%gm)m
aferdsh! HIvid/t faem/A sRteR sme)/q 2

1 () @ () @Y (a) SO (b) It (4) o

-

014
46.

[t is observed that :

(a) The objective of environmental sustainability often conflicts with growth objective.
(b) There is a trade-off between development and Environmental sustainability.

Which of the above statement/s is/are correct ?

1 () 2) (b) (3) both (a) and (b) (4) None of both

g, T (TR snfon foehma) e awdesta géie faum e s 9 g faam/fasn fee -

(a) ¥ 2016 HY HHA F. LR e
R @‘(L

(b) R SRR fe Wi & @ e o B

(©) Wmﬁmwmm

(1) (a) 37T (b) Fad ST TR (2)  (b) U () FaEd S 7.

(3) () 3o (c) e SITER ATEA. _(4)y” = wd R s,

Consider the following statements about Real Estate (Regulation and development) Act and
select correct one.

(@) was passed in 2016.
(b) aims at protecting interest of home buyers.

(c)  was not applicable in the state of Jammu and Kashmir.

Answer Options :

(1)  (a) and (b) only are correct. (2) (b) and (c) only are correct.
(3) (a) and (c) only are correct. (4) all of the above are correct.
N FHTHEE S/ SPACE FOR ROUGH WORK o)
~
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48. g faum fommu o=
(b) FETTEEE H@[ T qod ded.,
(c) HTAE € HUEHIT AR .
(d) FETEEYS S fawwar FH e,
TR Hront ferermy ferery st o/ 3 2 i
1) (a) v @) (b), (© 3T (d) @) @ (G (@) (g

Consider the following :
(@)  Creeping inflation is condusive for economic growth and puay have favourable effect,

(b) During inflation value of money increases.
(c) Inflation benefits debtors.

(d) Inflation decreases the inequality of income.

Which of the statement/s given above is/are correct ?

(1) (a) only (2)  (b), () and (d) (3) (b) and (d) (4) (a) and (q

¥ a8 @i=a (SDGs) Hewid @refieriat Hom ﬁm/ﬁaﬁ@,}%/a ?
(a) wmeEq fashrar= Hewidie WY Weret uRwe, Rafl & SR A 2015 HEA e,
(b) ¥M¥Ed R I ST S RUME SieEett ST,
/4()/ v forpr St (SDGs) Fewhi o Sieh (MDGs) T St
7(d) vmved fashE 249 (SDGs) WA 2012 WA A st

49.

Tt I

) Cltoyes 1 s gl T 1 SO mE) g

Which of the following statement/s is/are A

(SDCs) 7 /are correct about Ststainable Development Goals
a) The United Nations conference on Sustai :
(a) =t ainable Development was held in Rio de Janeir©

(b)  The Sustainable Development Goals are otherwise knownlas the
(c) The SDGs Replace the Millennium Development Gog]s e e Global Goals.
The SDGs came in to effect in January 2012, ).

(d)

Answer Options :

@ ey s i (4)  (d) onl
only

Fo=AT HTATETS! A1/ SPACE FOR ROUGH WORK
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MN1) 1225 W U

52,

www.byjusexamprep.com

(a) TS TR St A (AR CRSEIRENED)
b) fopTaSt WA Heell e S (ot T @i Fred TAH)
(©)
(d) FrareLol
u’&fﬁ'a?ﬁ':

Q) () () T 2) (c) F(d) K
3) (@), (b) S (c) P (4) et @
National Action Plan on Climate Change (NAPCC) rec

—_

am At (fae faer)
Wmmﬁw(ﬁ?ﬁaﬁqaﬁmﬂzﬁﬁﬁ%%ﬂ)

(a) waste-to-energy mission

(b) national mission on coastal areas
(c) wind mission

(d) mission on climate change and health
Answer Options :

(1) (a) and (b) only

(3) (a) (b) and (c) only

2) (c) and (d) only
(4) all of these

ommends this :

E BYJU'S

014

WW%W“awaﬁnswﬂa

é?ﬁaﬁmmwﬁ#ﬁamm,atwumqﬁmwé?ﬁm

fepet 2 <
3) 164 W (4) 245 W

0.83 W

A person carrying a bag of total mass 25 k
the man needs to carry the bag ?

g climbs upto a height 5 meters in 30 seconds.

How much power

(1)R12258W (2) 4083 W (B) 164 W (4) 245 W
ﬁ?%ﬁﬁﬂn@wﬁéﬂmwmmm,mﬁmm TEUTT.

(1) ¥ =eo i(@)mes e ST

(3) oy Hyy (4) SE Y

rr’l};f"nﬂ; two surfaces in contact have a Very thin layer of lubricant in between them, it is

(2) Rolling friction

(1) Solid friction
4) Film friction

®) Greasy friction
Rt s

RISt T/ SPACE FOR ROUGH WORK

s et

P.T.O.
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53 = =
fepet 2 1000 kgm =3 smfty qterh s 8.9 x 103 kgm ~3 e T AT AL Ty
(1) 8.9

y 2) 89 kgm~3 3) 8.9x106 4y 8.9x10-6

If derisit ot f 8 (3) 8.9x10 4y 8.9
densitytc}:f COVI;’;:;I?IS 1000 kgm =3 and density of copper is 8.9 x 10> kgm ~3. What is relative
(1) 8.9

==L L (2) 8.9 kgm~3 3) 8.9x10° 4) 8.9x10-6

N o

54. é’ﬂ'{ fq:,-{-u-l ‘i%ﬁm e
2.56 Ve M. @ e
k) 7.68x108 =
(3)  38.4x105 fip.r

A laser light beamed at the Moon takes
surface. How much is the radius of th
(1) 7.68x10% m

(3) 38.4x105 km

WIS Sgre TG Wi 2 gesiat W e
et iadren aftymor Fers e fard 2

(2) 76.8x10° ..

(4) 3.84x108 .

2.56 s to return to earth after reflection at the Moon’s
e lunar orbit around the Earth ?

2) 76.8%105 km

(4) 3.84x10% m

55. X mvf‘awmmm 2108 ms 1 ST SIAHT TE1 HIEAEE @@= AT 1.25 % 108 ms—! 2

aﬁammmmmq%mmmmﬁaﬁaﬁamaﬂ?@m.

1) 2.5 2) 1.33 @) 1.6 (4) 0.625
Find the refractive index of the second medium with respect to the first medium, if light
moves through the first medium with velocity 2x108 ms~—1

, which changes to
1.25 %108 ms~! in the second medium.

(1) 2.5 (2) 1.33 B) 1.6 4) 0.625
56. WA faum™ el ¢
377] & TagayR o= S STl
(b) et R Fe SeeiTel 0 HEqR 9 FEHeie B 9’ S ST,
gt 39
G) (a e, (b) IF Q.-'\(4) (2) ¥, (b) SN

Consider the following statements :
i i L

tom is electrically neutra

Eg; {'Al‘rlleanegative charge on nucleus is equal to the total negative charge of all the orbiting

electrons.

Answer Options :

(1) Both are incorrect

(3) (a) correct, (b) incorrect

(2) Both are correct
(4) (a) incorrect, (b) correct

ST mmﬁ?r ¥/ SPACE FOR ROUGH WORK
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g7, HETIH FIO SN vore g AT A 2
Feifee Hrashel
(;l'))/ Ny (2) wHEfew sifgz e
7t : (4) SolRM IR <A
Which among the following is not involved in Respi 5
) b et espiratory Process ?
W Gites (2)  Citric acid cycle
( /S (4)  Electron transport chain

(@) ST ) s i

(3) Q.Eﬁ. et 4) T I :

Who among the following Scientists coined the term “Ecology” ?

(1) Charles Krebs (2) Ernst Heinrich Haeckel
(3) A.G. Tansley (4)  Victor Shelford

59. USSR (eukaryotic) U3 Hewlq U SHFF Hifed DNA Helferd @refta faumr=n fa=m
L.

(a) FHAHEA® (eukaryotic) Tefidier TUREIAES S Hfge SLTLT, (DNA) Hied “ERE Y
YoM Gafa 7.

(b) 1 SR SRS & S 1 Jervd ST STeAs ST A1 HEHrT ST,

(c) o FTUATHER ek A1 Jereqd Sl S T,

WreAleTdeht aGrig qgigret fHae 7 :

(1) W dfeel faem sie STe.

(2 aha A e s SR

(3) e et 7 R foeT SRR T8 G AR T ST

(4) e TR fae SRR 3.

With respect to chromosomes in eukaryotic cells regarding D

the following statements. s
(a) Histones are small proteins associated with chromosomal DNA of eukaryotic celis.

(b) These proteins are rich in basic Amino Acids Argenine and Lysine.

(©) These protein lack Trptophan.

Now, choose the correct option :

(I) Only first statement is correct.

2)  All the above three statements are correct.

3)  Only first and second statement i correct but no

4)  Only third statement is correct.

NA as genetic material consider

t third.

| —

| .T.O.
™ e ST/ SPACE FOR ROUGH WORK P.T
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60.

61.

WA rvreen i sree s veet (SER) T6d 2
(1)  FRem= (2 THEEH (3) ARGl (4) AT

Which of the following cell organelle is not bounded by membrane 2

) Chloroplast (2) Ribosome (3) Mitochondria  (4) Lysosomes
%ﬂama I TS T 2
(1) iy

S fefters (2) ot anfon eEgEai

By
FISRA sy anfon St (4) FEEEIEA i Y

Which ic ui
8AStric juices are secreted in huma

(1)
(3)

n stomach ?

Pepsin an :
4 Trypsin (2) Trypsin and HCI

(4)  Amylopsin and Pepsin

(c) Wnﬁrﬁaﬁ/w (@) 39T et st gy

RRIRiEC

1) ®), @ @ © @ (@) (b), (), (d) \Q ®). (@), (a), (o) (f) "(d) i
G g - (9, (b), @)

Give the sequence of blood circulation in mammalian heart

(@) Left au1:ic1e (b) Right auricle
(c) Left ventricle (d) Right ventricle

Answer Options :

2) @), (b), (©, @ G (®), (d), (a), (c) @ q)

+(©), (b), (a)

Scanned by CamScanner
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64.
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: WWWWW#@?

(1) T@Tmﬁ'a — T@ﬂ'ﬂﬁ-é-‘cﬁw
(2 FHEEI1-6 =PTRERE — FHRE-6-ERe

3) FERIT-6-ThEHE — HRId 1,6-TIEHE
(4) 1-33M fosiia — 3f4sie

ne of the following is not an intermediate step in Respiration ?

Which o
(1) Glucose — glucose-6-phosphate

(2) Fructose 1-6 diphosphate — Fructose-6-phosphate

uctose 1,6-phosphate

(3) Fructose-6-phosphate — Fr
(4) 1-3diPGA — 3PGA

e 1 fsTosi4 TSR 3R m@.aﬁ.%ﬁ%&ﬂmﬁwmwgﬁwﬁwmﬁ

(a) @ fasToET ST 2T, fawToHes B,
Sifa TR HeaTHRoTo Gifere? FUrd.
To diferstl Il ST TRAEE 1995 FEd Y& Hrl.
i A
S ST ST Fer e S, 0 6\
=

a7/ ?

(2) I (b) 3 (o)
(c) anfor (d)

/

members nations to fight against Polio.

(b)
(©

(1) I (a) S (D)
(3) (a), (b) 3T () 4

Polio is a viral disease. WHO extends facilities to
(a) It is acute viral infection caused by DNA virus.

(b) Poliomylitis is commonly called as Polio.

()  Pulse Polio immunization programe launched in India in 1995.
(d) Now Polio is already eradicated from India.

Which of the statement/s given above is /are correct ?
(1) Only (a) and (b) (2) Only (b) and ()
®) (a), (b) and (0) (4) Only (c) and (d)

FTHE s/ SPACE FOR ROUGH WORK
P.T.O.
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65. S SR St (1E) wate s o 2
(1) Mg @ Mg® @ Mg i
Which has maximum lonization Energy ?
1) Mg 2 Mg® (3) Mg@ @)

66.

EXAM PREP

eIt T4

All of the aboy,

T feciean faurmie Fiom faur srvee o 2
(a)~ fex e qafess ot

(b) e 7o faferda T T or,
()  TEE fore A o,

(d)~" TEHA Wik ST e e

WW}{‘:
(" =l (2) W (a), (b), (c)
(3) T (a), (b) (4) = (b), (o)

Which of the following statements are correct ?

(a) Diamond is a non-conductor of electricity.

(b)  Graphite has a two dimensional sheet like structure.
(c) Graphite conducts electricity.

(d) Diamond is used for rock drilling.
Answer Options :

(1) All of the above

(2) Only @), (b),
(3) Only (a), (b) P

Only (b), (o)

67.

TS Afafsra=n a7 & IRy
(1) FSTHR TYUiqor fer e
(2) YA HH ST M0 TS qq sy

_ 3y~ GIien ST ST ST F56e Fut By

(4) T YR fAUA F TS b A
Chemical reaction rates generally

(1) are constant throughout a reaction

(2) are slow at the beginning and increase with time

(3) are greater at the beginning of a reaction

and decrea .
(4) no such generalization can be made 5¢ With time

=T SHTATES! W1/ SPACE FOR ROUGH WORK
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. 16 ol Sl
% 30 379 A (X0 g g/mol)wfﬂll‘azmmﬁqm(“ugaﬂm 32 g/ mol) aH fomas, 3

2 ar ST THHBIRN THEE SAufshan F3@ Todter @ MR a1 Her s
(1) 0.25 (2) 6 (3) 0.167 4) 4
32 g of methane (molar mass 16 g/mol) is mixed with 192 g of oxygen (molar mass

32 g/mol). Presuming that these gases donot react with each other, what is the mole fraction
of methane ?

(1) 0.25 2) 6 3) 0.167 4) 4

9. T U Uk 3. S e SIS TS &T9U1 3 e &1 AL, Hairc, T,
el S STHAFT Ll

(1) LiAIH, (2) Na-NH, 3) Naim4 (4) H,—Ni

The mildest reducing agent which reduces only carbonyl group in presence of nitro, carboxyl,
double bond and ester group is 3

(1) LiAlH, (2) Na—NH, (3) NaBH, (4) H,—Ni
, C\ OoIRs
70. WW(@O)#WW&W: N
(2) Hfeerre o] HIA T T SIS STIH S
(3) st 3] e SF FerdEi HieREHeAl ST Sl
(@) it S g T TOHRI eI ST S

- In Ca0, so as to achieve the stable octate :
(1) Ca atom transfer its two valence electrons to the same oxygen atom
(2) Ca atom transfer its one valence electron to the same oxygen atom
o valence electrons to the same calcium atom

() Oxygen atom transfer its tw

(4) Oxygen atom transfer its one valence electron to the same calcium atom

e -
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71. ATRRIS ARl e e (eft.t.31r2. ) <f T <hedt et 2 y

(1) 1956 2) 1986 \(3) 1946 (4) 1964

-

When was the Communist Party of India Marxist (CPI-M) formed ?

(1) 1956 (2) 1986 (3) 1946 (4) 1964

72. WW@WWW‘WWWWWW?

Y 44 o ey

) 42 =0 gy
(B) 40 =1 weAgEiy
(4) 38 HEAIGEN

When wag the word ‘Armed Rebellion’ added to the Constitution to declare a National
Emergency ?

(1) By 44th Constitution Amendment Act
(2) By 421d Constitution Amendment Act
(3) By 40th Constitution Amendment Act

(4) By 38 Constitution Amendment Act

73. WWWWWWWW\WW@
(1) 31 3fi==rER 2019 (2) 15 &M= 2019

/gary 31 fedsv 2019 (4) 1 SHaER 200

The Jammu and Kashmir State Human Rights Commission ceased to exist from

(1) 315t October 2019 (2)

15™ August 2019

(3) 315t December 2019 (4) 1 January 2020

FHTAT HHMEE AT/ SPACE FOR ROUGH WORK
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7g, IR TTEEAA 1992 =T 74 A1 MEAGEE HIATATIHIN Vel JIaw TR
; AN
Yo o 2 (3/ L (4) =

/ eqrdjng to the 74t amendment act, 1992 of the Indian Constitution there are
bes of Municipalities in urban India.

o ¥

A
b

(@j\) (2) three (3) four (4) five

ST STedid Gielid fau™ fo=amme =

i
(o5 =

.;-F' = : '//4 =TT
b) fSieer == e A AfHR 3.

(2) % (b)

(4) <=

:ﬁﬂ ;wmg statements regarding District Judges :

u ent of District Judge is made by Chief Justice of High Court.
ter has the authority to transfer the District Judge.

ent/ s given above is/are correct ? (
(2) Only (b)

() Neither (a) nor (b)

ACE FOR ROUGH WORK
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W\AWW‘B“WWWW,
Tl - A &
(a) ‘qé,w\ﬁr R
(b) e (i) Ts (I%)
(©) e (i) AR (o)
T ronsp Ayt Ty Rrgaens
) %53\'{1@ He urefrey NEERIRSEi (iv) afefermn
TS vy :
(a) (b) (c) (d)
@) @ @) (i (v
D™ @ g ()
G) (i) ® (v @)
ST e

List “A” with List “B”_

: List-B .
Single Citizenship

(i1) America (USA)

Judicial Revieyw

Directive Principles of State Policy (iii) TIreland
an
Concurrent list in Union-State Relation (iv)  Australi
ia

Answer Options :

@ ®) () (@

M 6 @ @
@ () @ @
@) @ O @ @
@ @ @ O @

% —rmr/ePACE FOR ROUGH WORK
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77. @i faur fa=mm =i
(a) T FIOE W o RS AR e T
(o) T o T WS e wee v o
() HERA TR i et S e T et #e el T,

e s 2 7
Q) (@) S () ‘@) (®) (o)
(3 (a) S (c) (4) Slerden e

Consider the following statements :
(@) The President may return an ordinary bill for reconsideration of the Parliament.
(b) The President may return the money bill for reconsideration of the Parliament.

(c) If an ordinary bill is passed again by the Parliament, the President must give his assent
to the bill.

Which of the statement/s given above is/are correct ?
(1) (a) and (b) (2) (b)and ()

(3) (a) and (c) (4) None of above

78. e Snfor ek g WA S Heuid SFECIdl 2021 AT 105 S HeAGEH ! HIAHH

RS ST FAHTE TCA hel AT : 'E,LJ_.Q
(1) ) ¥R (3) W= 4) = -

The Constitution 105" amendment act, 2021 related to the socially and educationally
backward classes, amends articles of Indian Constitution.

(1) two (2) four (3) five (4) three

oAl FHIHME AT/ SPACE FOR ROUGH WORK P.T.O
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(1) (a), (b) mftr (C) /{’Z’f ;’}(a)/ (b) 3fer (d)
(3)  (b), (c) 3for (q) 4) (a), (c) 3o (d)

ICnonsider the following statements regarding with Comptroller and Auditor General of
dia :

(a) He is appointed by the President of India.
(b) His salary and other service conditions are determined by Parliament.

(c) He can be removed by Prime Minister any time.
(d) He acts as a guide, friend and philosopher of the Public Accounts Committee of the

Parliament.
Which of the statement/s given above is/are correct ?
(1) (a), (b) and () (2) (a), (b) and (d)
(3) (b), (c) and (d) (4) (a), (¢) and (d)
80. vrgen faan wfaai=r T GRS (o= S GHiaR S{0a STl ST,
X
A T @ &= A3y faw=m (4) dfee
Forms of Oaths or Affirmations are included inthe _ schedule of the Indian
Constitution.
(1) tenth (2) sixth (3) third (4) first
81. arre foe OReRen A 50 S g el
o(1) 1990 (2)+, 2010 A3 1987 °(<4) 2000
Maharashtra Legislaﬁv; Council completed its 50 years of existence in
1) 1990 @) Avl (3) 1987 (4) 2000
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(a) el Sl s d I TR T, JHar.
o (b) mﬁ@aﬁaum@ wﬁa‘wmﬁ
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(1) T (a) (@ (@) ST () (3). % () (4)  (b) =T (c)
f Lok Sabha :

Consider the following statements regardmg with speaker o
(a) He hold offlce during the pleasure of the President.
‘(b) He need not be a member of the House at the time of his election.
(c) He Presides over a joint sitting of the two houses of Parliament.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2) (a) and(b) (3) Only (9) (4) (b)and ()

83. Wil faum fa=mud =
E (a)—foem it mﬁﬁ% .
() T ) TS S
© mqmﬁ%@aw@mﬁmqﬁmwmaﬁuﬁﬁa@ﬁw
e IR/ R SR SR/ 2
) @ame ) @amE @@ e @

Consider the following statements :

(a) Législative Council is a Permanent Chamber.
(b) The Governor is the ex-officio chairman of Legislative Council.
()  Exceptfew nominated members the members of Legislative council are indirectly elected.

Which of the statement/s given above is/are correct ?

1) (a) and (b) 2) (b)and (0) 3) (a) and () (4) None of above
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84.

Which of the following statement is correct with respect to ‘Right against exploitation” ?

(1)
(2)
(3)  Protection of interests of minorities

(4) Equality before law

Prohibition of traffic in human beings and forced labour

Freedom as to payment of taxes and the promotion of any particular religion

85. Wﬂﬁwmﬁa@ﬁjﬂgﬁ_@j@_?
frj(a)/' THENT o TEENY FHagen ge=
(b)— Tt faurase et Toe
‘:,(,C)""’ feoett suftr gg=Rt @1 Shevmdia yewnen faumgye Haifaa g
Wd) T Fae afeet e st AR Tee
gIiEr 39
1) (a), (b) 2) () (9) By @ @) (), (

Who among the following is not directly participating in the election of President ?

—

(a) The elected members of Lok Sabha and Rajya Sabha.
(b) The clected members of Legislative Assemblies of the State.

(©

The elected members of Legislative Assemblies of the union territories of Delhi and

Puducherry.
(d B th elected and nominated members of the state legislative councils.
o
Answer Options :

1) (), () 2 (), © @ @ @) (@), (9)
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A1) (@
@) ()
Consider the following Statementg - (4) e AT
(a) Ladakh became a Union Territor

. . Y on 3]st 0O
The Union Territo Ctober, 2019,
(b) 'Y of Ladakh compyige

(c Umang Narula is the Lieutenant . two districts hamely Leh and Kargil.
rno

Which is the incorrect statement ? r of Ladakh,
H (@) @ o
@) (9 (4)  None of the above

7. mwﬁwwa@ammmwmm A Wi @it faum

) R ST ST R e ST W s i
N Wmﬁmwmmaﬁmwwm%

w0 AEYTF 3T D
() TG QR STeqH ST SRR WACETET T 2009 HE) e 3.
W B e A sz |
- w5 (a) © =) G) O)mME @) (@) A )

izg;:’s;:_lso added in the list of minorities as classified by the Union Government. In this
a ider the following statements :
) /T(Z:W th(-?re are six designated minority communities in the country. ¥y |
¢ bonshtuﬁonal Amendment passed by the Parliament with simple majority is required
ANy community in the list of minorities.

A Inori . established in 2009.
ich of TR Minority Affairs of the Government of India established in

€ ab
@) Qve Statement/ s is/are correct ?

M L @ Only (b) 3) (b) and () (4) (a) and (b)
g
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Paul ]: Crutzen, who often used the term ‘Anthropocene’ and who won the Nobel Prize for
Chemistry in year 1995, was a citizen of :

(I) The Netherlands (2) Germany

(3) France (4) Poland

89. Wrelieti®! STRICHA I ToaT 1 Ay 2021 It ‘sH=re v snfor Trewe feed’ |

el ? e TR
(1) =hiawIHa (2)
(3) WY FHAUfe (4) SirSEn

Which of the following US states celebrated the ‘Kannada Language and Rajyothsava day’
on 15t November 2021 ?

(1) California (2) Texas

(3) South Carolina (4) Georgia

90, 20197 e ARl Teere PISTGRT €1 ST S T e, G I
aﬁag‘gwﬁ:jfﬂmﬁ?’wwwm.

(@) 15 3 A (4) 26 STHER
‘Muslim Women’'s Rights Day’ is observed inIndiaon _ since the enactment of

law in 2019, which has made the practice of instant triple talaq a criminal offence.
(2) 15" January
(4) 26" January

1) 15t August
(3) 15t August
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(1) The Sellout

(3) The Luminarjeg

Teeien e
(1) = 7

_(2) ey (3) wmw (4) zefEm
Human Development report 2020
Human Deye]

Publish,
(1) Holocene

eI At A St S e s 4 P
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(b) Eﬁmﬁaaﬁmgﬁm % NER LR S

(©)  TowEE . (HSBC) - ooy S g

,(d)”ﬁ‘q;aﬁtﬁqmg - o iR

RRIEIES

M @, @), ©, @ (2~ (a), (9), (d) ©®) @ @ % (@), (b)
Find the correctly matched pairs of Bank and Bank slogans.

(@)  Punjab National Bank The Name you can Bank Upon
(b)  Union Bank of India Good People to Bank with
(©) HSBC - World’s Local Bank
| (d) Bank of Maharashtra - One Family One Bank
Answer Options :

M @ ®),© @ @ (@), (o), (d) G) (@) (@ ) (), (b
E
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‘Tnanpith award’, the highest literary award in India, is sponsored by
(1)  Government of India

(2) Government of Maharashtra

(3) Bharatiya Jnanpith, a cultural organisation
4) Bharatiya Vidya Bhavan

95. T USYt HaAfed HEEH Sreraed ‘= B A’ Eieiierieh! HIne Seifed 31 ?

04(1) LEU] (27 TR (AT ¥ FAIR)

(3) 3THel garef K@) T Eapt

The ‘Blue heart campaign’ run by an UN institution is related to

(1) AIDS (2) Human trafficking

(3) Drugs (4) Flood relief

96. Y@ YfHehdicr A 2021 & AR WRATS 9 R,

(1) et TE 2y ai'_s_ﬁj_m
0 et grashig ol@) T steme

2021 Oscar award for actor in a leading role was won by

(1) Paul Raci (2) Anders Hammer

(3) Anthony Hopkins (4) Riz Ahmed
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//,(1) 18 Bt Region spread o/\ér 6,328 sq.km. consists of ___ Municipal
/' The Mumbal
tions.
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98. zozmrahﬁaﬂmmﬁa‘rfﬂa?wwéwmww EL G
e,
(1) HE AT
(2) Wfefereh HEl
(3) Sl HeRl

(4 Ty TERRaEd Sifed [ HIAT
Maria Ressa who won the 2021 Nobel Peace Prize co-founded ’Rappler’ which is a
(1) Music company
(2

)
(3) Feminist organisation

Literary organisation

(4) Digital media company for investigative journalism

9. ‘“<riredt T o (Ftaer T o SIS ) VA NN STesEd TR 7

Tt
(1) fsT oHr @) TH T HR

(3) wifthan gfera fem (4) E0

Who was recognised as the “Miracle Mom from Chandigarh” ?

(1) Neerja Bhanot (2) Rani Sada Kaur

(3)  Sophia Duleep Singh (4) Mann Kaur

Bihcaay = -

100. 3 2, 71 s simrem Wmmﬂﬁ?/zﬁj
4) fRET
b%) Sl (2) <™ I @)/ -ﬁqﬂ-‘ine is a citizen of :
Wang Yap'mg’ an astronaut, who recently walked in space (4) Vietnam
(1) China 2) South Korea (3) Japan :
.o0o0-
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